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. question booklet is divided into
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section B |
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f 100 objective type questions, oyt
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any 15 questions are to pe
red. Eqch question carrieg
rks. Apart Jfrom these, there

' long answer type
Soout of which any
ns are ¢, be Answereq
Ston caprigg S marys

Yelectronc

appl I'CZIZCe S Is
Mibiteq

Pagc20f48

[110]

@Us - 3 / SECTION - A

tive Type Questions
mﬁmm/omeg ' .
w’zaan#zooaara);m%mwﬁmﬁvﬂva‘ﬁaﬁ v
75T

# OMR ¥iie ' uv fafgaa
e 50 WET & IY AT GRT A TG W@l e G e
#Fl

1 e is correct.
1 ut of which only on
have four options, 0
jon Nos. 1 to 100
Question

ted option on the
50 questions. You have to mark your selected op
Answer any 50 qu

50 x1=50
OMR-Sheet.
1. PrafaRed 3 9 Tgug 7@ 2 ?
2
A)  x*+/5 (B) 9x°-4x+42
3
(C lx3+%x2+8 LD x+S
ial ?
Which of the following is not a polynomial *
2
A)  x*+/5 (B)  9x*-4x+42
3
1,3,3x%+8 D) x+=
(C) Sx+Ex"+ -
¢>+x2 +1) &1 917 2
54x? 3x)(‘x6+x +x°+1)
2. ggUq (x7+x7+
(A) S (B) 6
(€)iy =lid (D) 10
2 6. x5 L x241)ris
The degree of the polynomial (x5+x +3x) (x" +x” +x" +1)
A) S ) (B) 6
) 11 (D) 10
. f48
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3.

[ 110
e 17 11 % v &

& 11,-11 - B)" 1171
€ J1,-J11 (D) JI1,-11
The zeroes of the polynomial x%-11 are

(&) 11,-11 | B) 11, -Ji1
© J1L,-V11 D) VIT,-11
afe - 2 @ - 3 fgumd 9gug x° +(a+1)x+b %y & A
A) a=-2,b=6 B) a=2,b=-6
C) a=-2,b=-6 D) a=4b=6

S

If - 2 and — 3 are the zeroes of the quadratic polynomial
x2 +(a+1)x+b, then

(A) a=-2,b=6 (B) :a=2,b==6

(C) a=-2,b=-6 (D) a=4,b=6

afg =gue x2 —9x+a % YA H UHEA 8 2 @l a 1 WM &M
A) 9 B) -9

(c) 8 (D) -8

If the product of zeroes of the polynomial x*>-9x%a is 8 then the
value of ais

(A) 9 B) -9

c 8 f " (D) -8

ﬁ4(M)—H/S-41001-(55/6M Page 4 of 48



6.

fr=feiRaa § fra feama sgue & w4 @ - 2% ? .
A) x*-2x-8 | (B) x2'+2x——8

_(C) x%2-2x+8 (D) x2+2x+8
Which of the following quadratic polynomials has zeroes
4and-27? . : '
(A) x?-2x-8 (B) x2+2x-8
(C) x%2-2x+8 (D) x*+2x+8

afe sgug p(x)=x?+3x—4 % YIF « T P& @ %aﬂmq-grrn

(Aa) -1 B) 1

<€ 4 (D) -4

If « and B are the zeroes of the polynomial p(x)=x2+3x._4 then
the value of % is
By =1 '

c 4

®) 1
| D) -4
afe TgTE g(x) N TH Y= - 3 A @ g(x) B T PEAES 2

(A) x-3 B) x+3
. 1 a
© x—3 (D) x+3

If one zero of the polynomial g(x) is — 3 then one factor of qg(x) is
(A) x—-3 '

(B) x+ 3
1 1
(©) x—-3 (D) x+3

[24(M)-H/S-41001-s6/60)| Page 5 of 48




(A)

). 3

4 :
If f(x)=x"-2x_-x+2 is divided by g(x)=x?-3x+2,
degree of the quotient is

Aa) 4 B) 2
<c 3 (D) 1
10. A TR x° - 3(x+1)-5 F =% o wd B B Al (a+1) (B+1) T TH B
(A) 3 - B) -3
© -4 (D) 4

If @ and B are the zeroes of the polynomial x?-3(x+1)-5 then th;
value of (a+1) (B+1) is

(A) 3 B) -3
€): =4 (D) 4

11. A€ 2a+3b=8Td 3a-4b=-57 dl
(A) a=1,b=2 ' (B) a=2,b=1
(C. a=-1,b=2 D) a=2,b=-2
- If2a+ 3b=8 and 3a—-4b =-5, then
(A) a=1,b=2 . B) a=2,b=1

C) a=-1,b=2 (D) a=2,b=-2
[24(M)-H/S-4 1001-(s6/60) | Page 6 of 48




. , (110
12, g it H 2x -3y =8 W 4x-6y=9 8

e

(A) ETG (B) I

©) 3t (D) ¥ ¥ w8 T

The pair of linear equations 2x-3y=8 and 4x-6y=9 arc
(A) consistent (B) inconsistent

(C) dependent (D) none of these

13, THEW 2x+3y=4 W 4x+6y=12 & A@ g wer Hi T @ig
&l ?
(A)  Eurdl T W@ (B) HHIM & W
ey ufr=adl ot W@ (D) o | HE T
The graphs of the equations 2x+3y=4 and 4x+6y=12 are which
type of straight lines ?
(A) Coincident straight lines
(B)  Parallel straight lines

(C) Intersecting straight lines

(D) None of these

14.  THERW ™ 2x-3y+1=0 @A 3x+y+2 = 0 & fhad & & ?

(A) _=h-37R el Uk B (B) hIS &A @I

(€ Il &= D) T [ wE T

24(M)-H/S-41001-(s6/60) Page 7 of 48




12, R @i IH 2x-3y=8 T 4x-6y=9 &

“-

r [110]

(A) €@ (B)  TETd

©) 3 (D) ¥ A g AL

The pair of linear equations 2x-3y=8 and 4x-6y =9 are
(A) consistent (B) inconsistent

(C) dependent (D) none of these

13, TAEW 2x+3y=4 W 4x+6y=12 % I @ wHR H @ @i
gl ?
(A) Il B @ (B) HHIGX Tl WETd
oy WRed metEd (D) wE A
The graphs of the equations 2x+3y=4 and 4x+6y=12 are which
type of straight lines ?
(A) Coincident straight lines
(B) | vParallel straight lines
(C) Intersecting stra.ight lines
(D) None of these |
14. w0 6™ 2x-3y+1=0 a1 3x+y+2 =0 & fha1 g1 & ?
(A) THINHTA THEA  (B) IS T A |

(©) T g D) T & WS T
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16.

[ 1],

v solutions does the system ol linear
. many ¢
l{(\\\ I .

. ‘ je P
3y+1 =0 and 3x+y+2 =0 havc
2X = I

one and only one solution
(B) no solution
(C) infinitely many solutions

(D) none of these

k% form a9 % fou afieo femr x+ 2y= 3 @9 5x+ky=15 % aF
T 8 ?

A) 5 (B) 10

C) 6 - . (D) 12

For what value of k, has the system of linear equations x+ 2y = ¢

and Sx+ ky= 15 infinite solutions ?

(A) 5 - - (B) 10

) 6 . | (D) 12

Fafafaa § =9 guia A4 8 ?

(A) 03,033, 0333, ... B) 1,11,111, ..

€ 2 4,8, 16, ... (D) . o, -4, -8,-12, ...

Which of the following is an A.P.?

(A4)  0-3,0-33, 0-333, ...

B) 1,11,111,

(C) 2,4, 8,16, ...

(D) 0,-4,-8,-12,

B
24(M)-H/S-41001-(55/60) Page 8 of 48
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5p-3) .
@) 3 TRy, | 10)
) B) 4

c) 12 |
() . D) 6

17. p RRE AR S RN (2p+ 1), 13,

For what value of p, terms (2p+ 1), 13 (5p

’ , -3 R
(A) 3 ® a Bk
< 12 (D) 6

18. AR a @A AP 3, 8, 13,18, L. H nA wEA

T ?
& SO - ® 75
(C) 40 | (D) 55

If a, is n th term of A.P. 3, 8, 13, 18, ... then what is the value of

ays—%o °

(A) 50 B) 75

(C) 40 . (@ 5 g@mﬁﬁ
19. ma@w*@ﬂ“ﬁw%w Sa:TqaZS%aﬁ'

- ami

(A)

(€)




21

|

[ 1

: - i . The c
The 2nd term of an A.P. is 13 and its 5th'tcrm is 25 Omp,

difference of the A.P. is

(A) S B) 4

© 3 D) 6

afe wHI A F W n GG & A (5n-n?) B A W AT B A
g

A) 4 (13) .y,

€) 24~ (D) 6

If sum of first n terms of an A.P. is (Sn—nz) then the comm
difference of the A.Pl. is

(a) 4 B -2

< 2 (D) 6

R P2, 4 ), Rl A(-6,5) W B(-2,3) H gt Tt Yars
wegfag 8, @ a %1 9 8

(A) -8 | : B) 3

€ -4 . @) 4

If p(%, 4) is the mid-point of the line segment joining the point

A(—6,5)andB(—2,3),thenthevalueofais
a -8 B) 3

) -4 - D) 4

[24(M)-H/S-41001 ~(56/60)
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24.

gfe 9 foe uastRas 8] | 3o <o
\ Q ) a (ﬂ K) ]Q gm &'ﬂ:ﬂ

A) 1

(B)
(C) O D)
3
[f three points are collinear -then wh
£
made by them ? sty req o
Uthe
A 1 " Vg,
(B) 2
© 0 D) 3
ale AABC & ¥t ¥ frdais Aoy, 0), B(s
BRI .
S 5 a’; F-E L _@'ﬁ C(8,2) R
A) 1 3
W (12,0) B) (6,0)
() (0,6) (D) (4,0)

If A(-1,0), B(S,-2) and C(8, 2) are the vertices of a AABC then

co-ordinates of its centroid are

(&) (12,0) B) (6,0)

© (0,6) D (40)

RICREEE ABbfi AD, /BAC 1 318 g a1 AB= o, 4014
BC = 6 ¥l @ DC &1 A & |

(A) 258 @® 35

) 4-5@d ) 4% P‘qgellom




‘

If in MBC AD is the biscctor of /BAC and AR f

AC = 14 ¢m, BC =6 cm then the value of DC is

(A) 2:9c¢cm (B) 3:5cm
(C) 4Scm (D) 4 cm
5. fiye ABC HDE || BC gagam%ﬁﬁ =-5§Ilf‘?: AC = 56y
AE=?
(A) 428 (B) 318
(C) 2-3&#‘1 (D) 2184

In AABC, DE | | BCsuch that %_—5-' If AC= 56 cm then 45,

(A) 4-2cm (B) 31lcm

(C) 2:8cm (D) 2:1 cm

26. aﬁa’lmﬁgsﬁa‘ﬁwgmaﬁmaﬂqms 6'@ah=ra;qﬂqm

9T g
A) 25:36 B) 5:6
(C) 36 : 25 (D) 15:16

If the ratio of corresponding sides of two similar triangles is 5:6

then the ratio of their perimeters is
(a) 25136 B 5:6

C 36 : 25 D .
(C) (D) 15:16 I

24(M)-H/S-41001-ss/60] page 12 (¥
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21

Y

=6 i
.«]In 31| / S,I[ l“)_
=0 (B) 60° "
49

\

~ii AB= 643 &, AC= 12 At e e
AABC

(A)
c  90° (D) 120°
(

In AABC, AB= 6+/3 cm, AC= 12 cm and BC=6Cmth
tn

B) 60° “Bis
(A 45° &
© 90° | (D) 120°
12 '
g, @R wwatg BYs ABC W TH S éﬁmw%m
g
. . 8F%d (AABC)
e 6 Wl B A g (ADEF)
A) 2:1 . B 1:2
(C) 4:1 D) 2:3
If one side of an equilateral triangle ABC is 12 cm and one sige :
0
equiléteral triangle DEF is 6 cm then %;
A 2:1 (B) L:2
C) 4:1 (D) 2:3
29. AABC Ud APQR TH&Y ﬁrgtﬂ‘% et AD, oid A @ Bcwam i
PTY PH QR W &d 21 ARy AD = o it w pr=7 a0 a7 fF
ABC @11 TSl POR % &iarati 1 aiur g
A)  9:7 B) 7:9
€ 16:25 (D) 81:49
—_ —3a®

Pag
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1 g
: ‘

AMABC and APQR are similar triangles in Which AD is
Iy

from vertex A to BC and PT'is perpendicular from rle;{ i‘-r,(
AD =9 cm and PT = 7 cm, then ratio of areag Of tyj thQ ‘]t,,
triangle POR is §
A) 9:7 B) 7:9

(C) 16:25 (D) 81:49

30. immﬁwﬁmwlzﬁﬁﬂwﬁﬁéﬁrﬁ
? (A) 642 T (B) 6V3 am
() 3J/6 am (D) 6v6 @t

If one side of an equilateral tnangle 1s 12 cm then jtg helghtl

(A) 6/2cm (B  6/3cm
(€)  3V6cm (D)  6/6cm
64 16
31 2 5 2
(A)  9fEr g B) iy G
(C)  quifer g (D) urha gy
64 16 .
Vet 2 s
(A) Rational Number (B) Irrationa] number

(C) An integer (D)

Natural number
' 24(M)- -H/S-410071. ~(56/60) Page 14 of 48
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E Q) gEnall 3+46 WA 35 o L& gy T

‘\.—‘

@ B) iy g,
©) oI W D) e gy,
The product of two irrational NMumbers 3. /g S
. 5 |
a/an 'S wil]
(A) Rational number (B)

Irrationg) Numbe,
(C) Integer (D)  Natura] NUmbey

33, (0-3+0-4) % T@H &9 2

(A) {-5 - (B) %’
© = S

1 99

The simplest form of (0-3 + 0.4 ) is

| 7
(A) 170 ® 3
7
(C) 17 T D) 55

34, uﬁ156=2xx3yx13‘za-<ﬁx+y+z=
A) 4 B) 5
.G 3 : D)y 6
If 156 =2*x 3Y x13%, then x+ y+ z =

A) 4 B) 5

of 48
© 3 (D) 6 M



30 \[1_6 N \/TE: {}
(A uRly wen (B) 3Ry g@&
©) s g&m (D)  WThd HE&AT
J10 x/15 is
(A)  Rational number (B) Irrational number
(C)  Integer (D) Natural number

36. P__ % %94 0105 = formr o gear 2

2" x5™m
21 | 21
A —_ B —_
21 21
C D
- 23x 52 b). 2x 53
In the form of np T 0-105 can be written as
2%5
21 21
A) == B) ——=——
2°x 52 23x 53
21 ' ,
© == o 2L
2°x 5 2x 5

37. aﬁz‘tmaﬁwnoao=253ﬁtaoao=50%ﬁﬁw3ﬁmw
o ,

(@) . 1250 . B 1150
(€) 1350 (D) 1050

e L N |
24(M)-H/S41 001-(s6/60) Page 16 of 48
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99

39.

40.

If H.C.F. of two numbers = 25

numbers will be

(A) 1250 B 115 J{‘ts“lf
(C) 1350 D) 105
Al W WA a= bg+r 3 b=61, q= o
qaq .

01 G L L
(A) 1679 - (B) 1600 "
(5] 066D D) 1696

If in diviéion algorithm a= bq+r, b=61, 4= . .
what is the value of g ? | s 32, thep
® 1679  ®) 1600

(C) 1669 D) 1696

e g Tk T Uites @ A Pl 3 3 9 e s,

(A) 6g+1 (B}—~ 6g+2
(C) 6g + 4 (D) 6g+6

If q is a positive integer, which of the following is an odd positive

integer ?

(A) 6qg+1 (B) 6g+2
C) 6g+4 (D) 69+6.
aawﬁwé@laﬁwnom@m%

(a) O ® !



42.

43.

44.

"B af e mbers is
The H.C.F. of two consecutive odd nu

(A) O B) 1

) 2 (D) 3

tan 5°. tan 25° . tan 30° . tan 65° . tan 85° =

(A) 1 B 3
1 1
C = D
cos 387 cos 52° - sin 38° sin 52° =
A) 1 (B) O
1
CL. 2 D).tz

cosec 42° . cos 37° N
sec48”  sin53°

a) o ® =
€ 1 : . (D) 2

A tan(o + B) =v3 3N tang =%H\Ttanﬁ3ﬂm¢f%

(B)

N -

"

(D)

[V BN

1
(©) &

24(M)-H/S-21001 sqre0 Page 18 of 48
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If tan(a + ) =43 and tan o

=—= then
Ja the Vﬂlue of T
1 1 K
S B =
© = o T
J3 6
- Tt T _
45. 2 (sz +cos 4) =
B V2 B) o
€ 1 D)y 1
2
46. 3fe acos0+bsin0=4 qey asm6~bcose-3a} p)
| R P
@A)y 7 (B) 16
(C) 25 D) 36
If acosO+bsing=4 and asnl()“bCOSG“S then
N the value of
a® +p2 is
Ay 7 B) 16
(C) 25 (D) 36
47.

(A) x2: 2

(B)  Jx:y
©C) . y: . DY e

_ T
[24(M)-H/S-41001-s6/60)
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48.

149.

50.

,\‘2:_1/2. Then th '
1

"

o circles 18
q

The ratio of the areas of tw

their radii is

A  x*:y? (B) i

€ y:x o) *Y

forelt g 1 SATe 49x o ) & ) 3 ST S
() 14 &

@)/‘H}Iﬁ
(©) 49 f () 21¥

The area of a circle is 497 square cm. Then its diameter is

(A) 7cm (B) 14cm

(C) 49 cm (D) 21cm

swal # 14 df e F R g A A gl @

(A) 400 g+ (B).. "440 gl

(C) 288 HHl (D) 388 &l

The distance covered by a wheel of radius 14 cm in 5 revolutions i
(A) 400 cm (B) 440 cm

(C) 288 cm (D) 388 cm

@gﬁwm@@aﬁwmwéﬂmwﬁﬁ%ﬁwm
&

(A) 141 JEL 2:q

g w2 D)  Vr:2

—

24(M)'H/S‘41001-(56/60) Page 20 of 48
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If the area of a circle is equal (g the g
re

of their perimeters is L SQua, the. |1},
A)  1:1 B o, " th ’at)itl)
© m:2 D). Jx.p
51 ﬁ?@ﬁﬁﬁiﬁammaﬁ%aﬁaaﬁI@ 1
‘ol L T H
(A) 103 B) 8 "
QL5 3h D) 123

Then the radius 6f the circle is

(A) 10 cm

(B) 8 cm
IS g=em D) 12 em
52. A YW AR TR w9 A wrew wet wy
&/ @
anft ? S T 6 5o
w1 By 2 h
c 3 D) 4

of common tangents ?

@A) 1 ®) 2
— g TP T

24(M)-H/S-41001-(s6/60) |
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o
J

f\m}m%ﬁP@gﬁWm@PBaWﬁ}@ﬁ%

!
PA=6 3 ) pp- Al
(A) 12 3 B) 63
C
i Sﬁtﬁ (D) 18 Trft

Page 22 of 48
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ﬂ i sin(20°+0) = cos 30° then the value of g is

(.‘\) 300 (B) 40°
© 3% (D)  60°
6. I AABC Hi£C=90° @ sin (A + B) =
@ ° B) 1
1
: %
Ifin AABC, £C = 90° then sin (A + B) =
By 9 B -1
1
2 ) %
57. sec’ 03" —tan? 23" +2 =
a0 . B) 1
© 2 (D) 3

s8. g xcosO=1, tane—y'cﬁx -y 2 1 UM 2
(A) 2 ®B) O
c -2 o) 1

[x°-y®
If xcos0=1, tan 0 = y then the value 0

@ O

(A 2

cy -2




n
O

afe tax’xl):% dl sin g =

4 2
A = B 3
4 3
€ 3 ) 3
If tan9=% then sin g =
4 2
G ) 2
4 3
ST = =
60. ,1+cosA =
l-cos A
JA) _ cesec A—-cot A

(B) Cosec A + cot A

(C)  cosec A . Cot A (D) sinaA. tan A

61. mmﬁw@aﬁwm“zﬁ Py i
' | 1\ A
‘% \ \ \ \ ‘ < -
(A) 100 B) 10 ' . =\
5 r/o) = 2
’ ]
€ s0 (D) 20 . =
: : r 307
The mean of first ten consecutive odd Numbers jg
(A) 100 B) 10
€  so (D) 20

24(M)-H/S—4 1001-(56/60) Page 24 of 48



616,822 219 18 25 1 S §

A 16 (B) 15
©_ 2 (D) 8

The median of 15, 6, 16, 8,22, 21,9
) ) ] ) 18 25 .
) IS

(A) 16
. (B) 15
c 21
o | (D) 8
63 0) 6) 5: 1) %) 4 ) - = |
’3’0’2,6,5,6Wa§aas=g
(A) 5 . | |
BL_ 6
Cc) 2 -
(D) 3

The m 4 2,6
ode of 0,6, 5,1, 6 3,0

) ) ] ) ) ,5 i
X , 61s
A S (B) 6

c) 2
(D) 3

64
. T ISRl §
w2 < Aifersh w
TS SEelh T
. 4864 W 46528 1 7

e E
(A)  49.70 |
B .
C)—50 AQ»& N
?3 65 ﬁ (D) Sﬂ‘a“@'ﬁhﬁ
o P 5t |

9.% R ‘
4
(M)-H/S-4 1001-(56/60)1
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| [1
E istribution are 48.6,
The median and mode of a freraee e b

<

46-52 respectively. Then its mean is
49
(A)  49.70 (B)
(C) 50 (D) none of these

' 11 I o
65. Uﬁ‘ﬁaﬁ&wﬁx,x+2,x+4,x+6qax+8zmmw gl X g
a1
A) s B 6
<© 7 (D) 8
If the mean of five observations X, x+2 x+ 4

11 then the value of x s

A) s

,x+6andx+8,-s

B) 6
(&) I

66. @mmzﬁmﬁmm‘eﬁvﬁ?

G B o

C) 1 D) 13 wrey

What is the probabllity of an Impossible cvent ?
1

GV B) o

€ 1 (D)

more than
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67. af¢ P(E)=0'4?h P(E") T 2 :

A) 096 2
© 1 B os E
(D) 0-06
If P(E)=0-4 then the value of P(E');
(A) 096 - ( N
B) 06
© 1
(D) 006

68. Q) aret %k H .
Wq&u@ﬁm%
A) 12
(B) 20

c) 3 |
€ D) 6

(a) 12 (B) 20
(c) 36 (D) 6
69. ﬁmﬁfﬁéﬁﬁ@ﬂ—mmﬁéﬁmaﬁmﬁmqﬁm%?
(A) 06 B) 19
) 75% o 2
pabilty o &

Which of the following numbers ¢

event ?
15

T



1 o

ot getting an odd number in a thy Oy

What is the probability of n

a die once ?

(A) O (B) % ’
© L 2
71w mm A s, e v s w15 4, 6 9 W5 H A wy o
urvE gHIT &A% g
(A) 200 2 | () 2107t °
(C) 2507t 2 (D) 220 T 2

The length, breadth and height of a cuboid are 15 m, 6mand 5 m

respectively. Then the lateral surface aréa of the cuboid is

_ 2
(A) - 200 m , (B) 210 m?

C 2
(© 250m (D) 220 m?

i) sén‘igmarﬁaqﬁ@4ﬁd7ﬁmaﬁ%aqmmm§?

A )
B 4 B) s

(D) 16
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r

. can be formc
‘ bes of side 4 cm
cubes
ﬂ ; many
How

d g
g cm ?

l‘()n'1 q QU})Q !r“()l
g
(B) 8
g (D) 16
12 .
©) Fﬁqwmwmzsw,qmws g,mh%
73, U@ w\ﬁaﬁmwmm%mm?
4T
. a2 (B) 144 3 2
72
. ﬁ2 (D) 256 3
8
© 12

) ‘ Cm and
i at
are me }l

™ ety
1S the lateral
D .
the new formed cube -

2
(A) 72 cm

B) 144 cm?
2
2 (D) 256 cm
(C) 128 cm . »
ééﬁﬁﬁwaﬁwmﬁg saﬂxmm@ I
74. %
i
ITh I SIERIR '
20 (B) 20:97
27 0
(A) D) 9:4 .
N 3an
. 4 linders are 1in the ratio 2
dii of two cy o
o tio S : 3. The ratio of their volu 7
ratio "
In the 0 ‘ o |
2 - |
(A) 27 (D) 9:4 o 290
- [24(M)-H/S-41001-ss/60
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[
7S.

| ““‘"*“*Wanahmnﬁoﬁa‘??@ﬁmwﬁa"‘mm
| 14@1113}#:39@5,?@%

(A,. 10 %ef : B) 15 &Ht

©) 20 3

(D) 40 ot




- . radius of the base of a cone ;
ﬂ (f ris the radiu ‘ ¢ and 4

ity

s8],

\ curved surface arca of the cone is L
the

a) 3w B) nn

@ D) 2 n

- 14 S =IE AT U 1 A T A% gy

(A) 147 n ot 2 (B) 198 ndm 2

) 488 a2 (D)

396 nﬁtﬁ2

The total surface area of a hemisphere of diameter 14
Cm ig

2
(A) 147 mcm (B) 198 1 cm?

(C) 488 mcm? (D) 396 ncm?

5. W TF T A 1570 W B Al fw STTUT 1 8% 314 W2 3
N st Ferd B
(A) 10 & (B) 15ad
@ e (D) 20%&1
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F | g
The volume of a cone is 1570 cm®; If the area of it by !
%

314 cm? then its height is

(A) 10 cm (B) 15cm

(C) 18cm (D) 20cm

80. Uﬁ@m@ﬁWIQr%?ﬁWW‘@TH

32xr3 : 16773
(A) 3 (B). 3
o & nr o 64nr
3 (D) 3

If 2r is the radius of a sphere then its volume is

32nr° 16nr°
w5 B Lo
8ar’ ‘6471:7’3
(C) 3 (D) .
s1. R plx)=x’ -5x+6 T q(x)=2-x" A p((x) -
a2 B) 4
€ 1 (D) 3
If p(x)=x" -5x+6 and g(x)=2-x*, then the degree of (};((xx)) is
B) 4
(D) 3

LR
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ﬁ ppafetiad 0wl fgun aflepqur 3 5
82

A) x*-3Jx+2 =0

(B de
2,1 _¢
C) x = (D) 2)c2\5',C
t(-\'\”'z
f the follow 1
which o e owing is g Quadratic CqUatlon .
P
©  x*+=s=s (D) 2,2
x2 X "Sx:(x_l)g
g3. dfa Tgama arfierror +2kx+4=0 W@‘{agéa}
k qﬂqnm
@A) -1 B) _5
Cc 2 (D) -4
If one root of the quédra’uc €qQuation x2+2kx+4 0
=0 sy
value of k is il
(A) =1 B) -2
€ -2 D) —4
84. AR (x+3), ax +x+1 wwﬂﬂi‘—r@ga’taﬁ a 1 °E gy
A _ 3 ® 2
2
2
(C) 5 (D) 9
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[
en the value of ais 1

If (x+3) is a factor of av® ¥ xt1 th

A) 3 (B) —g—
© 32 . o) 9
85. p % fomm T % o o T px-2x+8=0 F T Taf,
a9 &l ? |
(A) 1 (BJ/—;-
© 3 o 3
For what value of p, rooté of the quadratic equation px2 -2x+3 =g
are real and equal ? :
@) 1 B 3
© 3 o 3
g6, feama GHIRT 6x2 - 3x+5=0 %rﬁﬁaﬁuffﬁf'mﬁfﬁ ?
(A) T T ST @) Td EAH
T () arfas T8l (D) T AHR T |
‘ What is the natur€ of roots of the q'l..lad'ratic equation
6x>-3x+5=07 -
< (A) Real and unequal (B)‘ Real and equal
() Notreal (D) None of these
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V- -

L,

2 . _ o
aiffertl x% +x—=20 =0 1 TE el 4 8 o oo
a af ferd 1148 @ gy o l

{ I 2
i A 5 | (B) -4

o - (D) 3

“L

(f onc

: , )
root of the quadratic equation x“+x-_pq 05 ¢

B _4-
(©) A——.5 (D) o)
2 _ a__, . .
8 aﬁﬁ;ﬂﬂ@dlaﬁml x°+6x+5 =0 n@aﬂaﬁg‘leﬁazwgmmm
#) - 30 (B) 16
© 26 (D) 20

if o« and B gre the root.s of the quadratic equation x2+6x+520
then the value of o +B2 is

(A 30 . ®) 16

(&3] 26 (D) 20

g0, faemd WHIERWT px> —gx+r=0, p=0 % Hd &

(é; 2p (B) 2p

©) —a g —4pr —q g +4pr

2p

-
f48
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E [llt

2]
. 2 _agx+r=0, p#0
The roots of the quadratic equation px~—4 ’ are

- 2
+4 pr
q *yq?~apr _q_i___\/ﬂ__’__z

(A) 5 (B) 2p
-q +yq2-apr ~q g’ +4pr
(CJ 2p (D) 2p

9. R x = - 1 i whwwl 2x7+3x+p=0 M @ -qred=o 5
Wﬁafﬁﬁ?ﬁp+q‘aﬁrmm‘

A) 1 B -1
€ 2 (D) -2
If x=- 1 is a common root of both the equations 2x2+3X+p=0

and qx2— gx+4=0 then the valueof p + g is

(A) 1 _ B) -1
c) 2 D) -2
91. wiav)r-ér-s,—%,z, .. @1 119 g g1 8 ?
(A) 28 : ' (B) 22
(C) - 38 (D) -48

What is the 11th term of the A.P. -3, - %, 2 i P

(A) 28 (B) 22 )

(€ -38 (D) -48

B
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a8

| 110 ]
g A 41, 18, 35, ... , 8 H 9@l £ 9 B
21}“‘ y

12 (B) 14
; 10 (D) 15
::(. number of terms in A.P. 4 1, 38, 35, ..., 818
12 (B) 14
(A) - (D) -
Sjia(a?.ﬁ 2, 4, 6, é, 3 werg 50 Y&l 1 AMTHSA BT
93.
@) 2590 (B) 2550
©) 200° (D) 2000
The sum of first SO terms of the A.P. 2, 4,6, 8, ...is
o) 2500 (B) 2550
) 2005 (D) 2000
01, f&3 (247, -3 ) fope wrqurter H 8 7
(a)— T B fm
€ T —

The pc')int (Qﬁ, —-3) liesin which quadrant ?

(A)  first (B) second

(C)  third e (D) fourth

95. Farqatt (2 cos 0, 0) @AT (0, 2 sin0) & == H gl &

(A) 1 . (B) 2
) 3 (D) 4
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N

=

E [110

The distance between the points (2 cos 0, 0) and (0, 2 sin g ) ia
A) 1 _ B) 2
(C) 3 (D) 4

96. WS WM x=-2dYl y= 3 H HeH &g 2

Ay (-2,3) B) (2,-3)
€ (3,-2) (D) (-3,2)
The intersecting point of straight lines x¥ —2and y=3is
(A (-2,3) B) (2,-3)
€ (3,-2) (D)  (-3,2)
| 97. famgsii (7,-4)w (-5, 1) 5 faHrghd
| A) 12 | (B) 13
| € 11 (D) 5

The distance between the points (7,-4 ) and (-5, 1) is

(A) 12 (B) 13
©) 11 D s )
y-3E T g fag o fargld (5, - 2) W (-3, 2) & wgw @), 2
(A)  (0,3) B (-2,0)

. (© (0,-2) O (2,2)

B) (-2,0)
D) (2 2)
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(B)

~2—ab

' 1 2.9

() 59%b (D) %bQ
If A(CLEO), B(0,0) and C(0,

area of AABC is

A ap

(B) %ab
(©)

}ia2 b2

. 8
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